How Many Times?

11

A Visit to an Amusement Park
A group of children visited an amusement park.

Wow! 2 of us can sit
on the horse. I will
sit with my friend.

The total

children are

2+2+2+2=( |

@ of us can sit on the horse swing altogether.

3 of us can sit in
a toy train. We all
will sit together.

There are 3 bogies. 3 +3 +3 =
Total @ children can sit in 3 bogies.
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Here we are! This is
such a big wheel! 4 of us
can sit together. There
are S compartments.

)+ )+ I+ =D

Total D children can sit in the swing.

After riding on the swings, children planned to eat jalebis.
Each plate of jalebi has 3 pieces. They ordered 6 plates of
jalebis.

)+« I+ )+ =D
6 times 3 is D
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Travelling in the Bus
2+2+2+2+2+2+2+2+2=( ]

O times 2 = C]

Total number of people in the bus = @

Some crates of water bottles are kept in the bus. Count
them.

C+Ey+C+CD)

)

Total number of bottles in the bus = @
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Cheenu bought some packs of erasers, pencils and apples
from the shop. Find the total of each item.

2+®+[ ]+[ j=®erasers
4timesQ=D

Total number of erasers = D

3+ )+ J+(J+(J=(_)pencis
5tim683=®

Total number of pencils = @

3+ )+ J=[_ Japples
3timesS=D

Total number of apples = D

Project Work

Draw a cycle wheel. Ask your friends or find out how many cycles you
have at home. Find out the total number of wheels in all the cycles.
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